



**Vendor Ranking** 

Page 1 of 1

05200901 Letting:

September 01, 2020 2:00 PM

Call Order: 008

Contract: E5V56

District: District 5 Counties: ORANGE, SEMINOLE

Fed Aid No: N/A

Contract Time: 80 CALENDAR DAYS

**Project(s):** 44400017202 (\*)

Contract Desc: STORMWATER PIPE DESILT & VIDEO

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	DRAINAGE PARTNERS LLC	Responsive	Winning bid	\$150,000.00	100.00%
2	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$177,887.50	118.59%
3	ATLANTIC PIPE SERVICES, LLC	Responsive	Non-Winning Bid	\$239,841.53	159.89%
4	COASTAL GUNITE CONSTRUCTION COMPANY	Responsive	Non-Winning Bid	\$296,692.50	197.80%
5	ENVIROWASTE SERVICES GROUP, INC.	Responsive	Non-Winning Bid	\$338,823.75	225.88%
6	NATIONAL WATER MAIN CLEANING CO	Responsive	Non-Winning Bid	\$361,188.00	240.79%
7	AVID CONSTRUCTION & SERVICES LL	Responsive	Non-Winning Bid	\$367,912.05	245.27%
8	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$419,256.25	279.50%
9	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$647,654.00	431.77%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 7

Letting:05200901September 01, 2020Call Order:008Contract:E5V56District:District 5Counties:ORANGE, SEMINOLEFed Aid No: N/A

Contract Time: 80 CALENDAR DAYS

Project(s): 44400017202 (\*)

Contract Descr: STORMWATER PIPE DESILT & VIDEO

FDOT District 5

Proposal ID No.: E5V56

Financial Project No.: 444000-1-72-02

Fiscal Year: 2021

Counties: Seminole & Orange

Calendar Days: 80 Lead Time: 14 Days

This is a Maintenance Pay Item Contract.

Intent:

The work under this contract includes desilt and video of various stormwater pipes and drainage structures on various roadway sections within Seminole and Orange Counties.

	e No / Item ID	Alternate	Quantity Units	(1) DRAINAGE P	ARTNERS LLC	(2) FLO ENVIRONME			PIPE SERVICES,
	ndicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0005 MOBIL	0101 1 IZATION		(1.000) LS	500.00000	500.00	0.50000	0.50	4,000.00000	4,000.00
0010 MAINT	0102 1 ENANCE OF TI	RAFFIC	(1.000) DA (LS)	309.60000	309.60	5,000.00000	5,000.00	1.00000	1.00
0015 DESILT	E430 94 1 T PIPE, 0 to 24"		20,586.000 LF	1.65000	33,966.90	2.50000	51,465.00	2.88000	59,287.68
0020 DESILT	E430 94 2 T PIPE, 25-36"		14,453.000 LF	2.00000	28,906.00	4.00000	57,812.00	4.05000	58,534.65
0025 DESILT	E430 94 3 T PIPE, 37-48"		2,178.000 LF	3.50000	7,623.00	5.00000	10,890.00	6.85000	14,919.30





# **Tabulation of Bids**

Page 2 of 7

Lettin	i <b>g:</b> 0	5200901	September 01,	2020 <b>Cal</b>	l Order: 008		Contract:	E5V56	
	e No / Item ID	Alternat	e Quantity Units	(1) DRAINAGE P	ARTNERS LLC	(2) FLO ENVIRONMI		• •	PIPE SERVICES, LC
( ) in	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0030 DESILT	E430 94 4 「PIPE, 49-60"		5,331.000 LF	4.00000	21,324.00	5.00000	26,655.00	10.00000	53,310.00
0035 DESILT	E430 94 5 FPIPE, 61" OR	GREATER	974.000 LF	4.50000	4,383.00	5.00000	4,870.00	14.85000	14,463.90
0040 STORM CAMER		PECTION (VID	35,325.000 EO LF	1.50000	52,987.50	0.60000	21,195.00	1.00000	35,325.00
		DRAINAGE S TURES (LF)	Section Totals:		\$150,000.00		\$177,887.50		\$239,841.53
		Contract G	rand Totals:		\$150,000.00		\$177,887.50		239,841.53





### **Tabulation of Bids**

Page 3 of 7

Letting	<b>g</b> : 05200901	September 01,	2020 <b>Ca</b> l	l Order: 008		Contract:	E5V56	
	No / Item ID Alter Description	nate Quantity Units	(4) COASTA		(5) ENVIROWAS GROUE			WATER MAIN ING CO
( ) ind	dicates item is bid as Lump S		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 MOBILI	0101 1 ZATION	(1.000) LS	9,375.00000	9,375.00	1.00000	1.00	5,000.00000	5,000.00
0010 MAINTE	0102 1 ENANCE OF TRAFFIC	(1.000) DA (LS)	9,375.00000	9,375.00	1.00000	1.00	3,000.00000	3,000.00
0015 DESILT	E430 94 1 PIPE, 0 to 24"	20,586.000 LF	1.13000	23,262.18	4.00000	82,344.00	4.35000	89,549.10
0020 DESILT	E430 94 2 PIPE, 25-36"	14,453.000 LF	2.69000	38,878.57	6.00000	86,718.00	6.10000	88,163.30
0025 DESILT	E430 94 3 PIPE, 37-48"	2,178.000 LF	6.25000	13,612.50	8.00000	17,424.00	9.35000	20,364.30
0030 DESILT	E430 94 4 PIPE, 49-60"	5,331.000 LF	11.25000	59,973.75	12.00000	63,972.00	12.95000	69,036.45
0035 DESILT	E430 94 5 PIPE, 61" OR GREATER	974.000 LF	21.25000	20,697.50	20.00000	19,480.00	17.65000	17,191.10
0040 STORM CAMER	E432 4 I SEWER INSPECTION (\ A)	35,325.000 /IDEO LF	3.44000	121,518.00	1.95000	68,883.75	1.95000	68,883.75



09/11/2020

**Tabulation of Bids** 

Page 4 of 7

Letting:	05200901	September 01,	2020 <b>C</b> a	all Order: 008		Contract:	E5V56	
Line No / Iter		e Quantity Units	` '	AL GUNITE	· ,	STE SERVICES IP, INC.	` '	AL WATER MAIN ANING CO
() indicates ite	m is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	(CLEAN DRAIN	NAGE STRUCTU	RES (LF				

0001 CLEAN DRAINAGE Section Totals: \$296,692.50 \$338,823.75 \$361,188.00

STRUCTURES (LF)

Contract Grand Totals:	\$296,692.50	\$338,823.75	361,188.00
------------------------	--------------	--------------	------------





### **Tabulation of Bids**

Page 5 of 7

Lettin	<b>g</b> : 05200901	September 01,	2020 <b>Ca</b> l	II Order: 008		Contract:	E5V56	
	No / Item ID Alte	rnate Quantity Units	(7) AVID CONS SERVIC		(8) SHENANDO CONSTRUC		(9) MAER H	OMES, LLC
( ) inc	dicates item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0005 MOBILI	0101 1 ZATION	(1.000) LS	24,000.00000	24,000.00	10,000.00000	10,000.00	60,000.00000	60,000.00
0010 MAINTE	0102 1 ENANCE OF TRAFFIC	(1.000) DA (LS)	24,000.00000	24,000.00	500.00000	500.00	5,500.00000	5,500.00
0015 DESILT	E430 94 1 PIPE, 0 to 24"	20,586.000 LF	2.35000	48,377.10	3.50000	72,051.00	8.00000	164,688.00
0020 DESILT	E430 94 2 PIPE, 25-36"	14,453.000 LF	2.55000	36,855.15	7.75000	112,010.75	12.00000	173,436.00
0025 DESILT	E430 94 3 PIPE, 37-48"	2,178.000 LF	4.25000	9,256.50	14.00000	30,492.00	15.00000	32,670.00
0030 DESILT	E430 94 4 PIPE, 49-60"	5,331.000 LF	4.55000	24,256.05	28.00000	149,268.00	20.00000	106,620.00
0035 DESILT	E430 94 5 PIPE, 61" OR GREATE	974.000 R LF	5.25000	5,113.50	28.00000	27,272.00	35.00000	34,090.00
0040 STORM CAMER	E432 4 I SEWER INSPECTION (A)	35,325.000 (VIDEO LF	5.55000	196,053.75	0.50000	17,662.50	2.00000	70,650.00



09/11/2020

#### **Tabulation of Bids**

Page 6 of 7

Letting:	05200901	September 01,	2020 <b>C</b>	all Order: 008		Contract:	E5V56	
Line No / Item		ite Quantity Units	, , ,	NSTRUCTION &	\ <i>,</i>	OAH GENERAL CTION, LLC	(9) MAER	HOMES, LLC
() indicates item	is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (CLEAN DRAINAGE STRUCTURES (LF

0001 CLEAN DRAINAGE Section Totals: \$367,912.05 \$419,256.25 \$647,654.00

STRUCTURES (LF)

Contract Grand Totals:	\$367,912.05	\$419,256.25	647,654.00
------------------------	--------------	--------------	------------



09/11/2020

#### **Tabulation of Bids**

Page 7 of 7

**Letting:** 05200901 September 01, 2020 **Call Order:** 008 **Contract:** E5V56

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.